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Date: 10-08-07
Introduction
This laboratory is the midterm practical examination laboratory. In this laboratory I intentionally provide considerably less guidance on the specifics of the procedure, table design, chart type, and analysis.

Hypothesis

There exists a mathematical relationship between the drop height and the bounce height for a ball.

Procedure

1. Drop the ball from five to ten different heights. For each drop measure the drop height in centimeters. You choose the drop heights. 

2. Measure the bounce height in centimeters for each drop height. 

Data tables

	Drops
	Drop 1
	Drop 2
	Drop 3
	Drop 4
	Drop 5

	Drop Height
	15
	20
	25
	30
	35

	Bounce Height
	10
	16
	18
	20
	24


	Drops
	Drop 6
	Drop 7
	Drop 8
	Drop 9
	Drop 10

	Drop Height
	40
	45
	50
	55
	60

	Bounce Height
	26
	30
	32
	34
	38


Data display
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Data analysis

This second charts show the slope and intercept of the best fit line to my data. These data appear to be well modeled by a linear mathematical relationship. No. I cannot calculate a bounce height when am given only a drop height.
Conclusion

In conclusion, the graph or the chart seems to have a slope and an intercept that shows the best fit line of a linear mathematical relationship. As you can see in the chart, the lines are growing. As a matter of fact, it is a linear mathematical relationship. As we measured in the lab, a drop height is bigger than a bounce height. Like for instance, when you drop your ball from 15m it will only bounce up to 10m. As I mentioned before, the line graph is a better graph to look at for a linear mathematical relationship. These two graphs are just the same. The only difference between them is that one is used in a column chart and one is used in a line chart. As a matter of fact, they are the same and they have the same relationship. Both the drop height and the bounce height have the best fit line of a linear mathematical relationship. For more information, examine the two charts and you know what is what, so on and so forth.
THANK YOU VERY MUCH!!
